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1) 50 ms1

2) 48 ms1

3) 0 ms1

4) – 2 ms1
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2) �����8�&�>��L
3) ��R,���=0:
4) ^��
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1) 0.275 J
2) 2.750 J
3) 27.50 J

4) 275.0 J
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-)H1
� �� @� 
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 (1 

�)�
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!#�
<
1) 10 W

2) 20 W

3) 30 W

4) 40 W

1. A body travels from ‘A’ to ‘B’ at
40 ms–1 and from ‘B’ to ‘A’ at
60 ms–1. Then its average velocity
is

1) 50 ms1

2) 48 ms1

3) 0 ms1

4) – 2 ms1

2. If the velocity of a body starts to
decrease then the body is in

1) retardation

2) acceleration

3) displacement

4) speed

3. Calculate the Kinetic energy of a
bullet of mass 2.2 gm moving with
a velocity 500 ms–1.
1) 0.275 J
2) 2.750 J
3) 27.50 J
4) 275.0 J

4. A body does a work ‘80 J’ in ‘4’
seconds, then the power of the
body is

1) 10 W

2) 20 W

3) 30 W

4) 40 W

          PHYSICS � 3�
/)�
+4
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5. Which of the following waves give
series of compression and
rarefaction in a medium ?

1) Light waves

2) Sound waves

3) Radio waves

4) Electromagnetic waves

6. Colour of light having minimum
angle of deviation is

1) Violet 2) Yellow

3) Red 4) Blue

7. When light travels from vacuum to
water, which of the following
characteristics of light will remain
unchanged ?

1) Velocity 2) Amplitude

3) Frequency 4) Wavelength

8. In the figure, an object is kept
between ‘C’ and ‘F’, then image of
the object is formed

1) in front of ‘F’

2) at ‘F’

3) at ‘C’

4) beyond ‘C’
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9. In the figure, the distance between
points ‘A’ and ‘C’ is

1) 2) 2

3) 3 4) 4

10. Television Stations use

1) high frequency waves only

2) low frequency waves only

3) both high and low frequency

waves

4) neither high nor low frequency

waves

11. Photocell converts light energy into

1) chemical energy

2) mechanical energy

3) thermal energy

4) electrical energy

12. Expansion of the word SIM is

1) Subscriber Index Module

2) Subscriber Input Module

3) Subscriber International Module

4) Subscriber Include Module

9. 
�%OP�
(�
�.�
�1
>��‘A’��
(�
(+�‘C’�Q�1
(�
'
�
�
(,�
�1
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1) 2) 2

3) 3 4) 4
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������
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12. SIM 	
1
1
�,�
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R)��
%	
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1) Subscriber Index Module

2) Subscriber Input Module

3) Subscriber International Module

4) Subscriber Include Module
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CHEMISTRY �
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(�
/)�
+4

13. This is the first milestone in

explaining the inner structure of

matter is

1) Dalton’s theory

2) J.J. Thomson’s experiment

3) Bohr’s experiment

4) Rutherford’s experiment

14. The deflection of anode rays in an

electric field when compared to

cathode rays is

1) little

2) very little

3) more

4) large

15. Heavier the gas in the discharge

tube

1) more the deflection

2) lower the deflection

3) no deflection

4) larger the deflection

13. 1
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	�����
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1) �O�=,�
<�eP$��&��/�

2) �O�=,�
	�����
M$��&��/�

3) �O�=,�
M$����*4=0

4) �O�=,�
&���C�
M$��&��/�
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16. In a neutral atom

1) The number of electrons outside
nucleus is equal to number of
positively charged particles in the
nucleus

2) The number of electrons outside
nucleus is not equal to number of
positively charged particles in the
nucleus

3) The number of electrons outside
nucleus is equal to number of
neutral particles in the nucleus

4) The number of electrons outside
nucleus is equal to sum of neutral
particles and positively charged
particles in the nucleus

17. The statement which represent the
postulate of Bohr model is

1) Electrons in each shell have been
associated with definite amount of
energy

2) The energy of an electron does not
remain constant as long as it
revolves in its own shell

3) An atom is indivisible

4) An atom can neither be created
nor be destroyed

18. The Relative molecular mass of HCl
is

1) 35.45 2) 53.45

3) 36.46 4) 53.54

16. ,1
(!����
2�
U�	
�
�
-)9(,�
>��V

1) ��^	���/��/�
<�8$��,�
M.�	�Z[,������
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��^	���/��/�
3���,�
/S�,�
�/���/��'�/�
	�K��)��
��������$��&��/�

2) ��^	���/��/�
 <�8$��,�
 M.�	�Z[,������
���;�������
��^	���/��/�
3���,�
/S�,�
�/���/��'�/�
	�K��)��
�����,��$����*4=0

3) ��^	���/��/�
<�8$��,�
M.�	�Z[,������
���;�������
 ��^	���/��/�
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,�8�D��,"
	�K��)��
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4) ��^	���/��/�
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M.�	�Z[,������
���;�������
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 ���&�� �
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17. ��%�����
-)1
��-
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1) �������8�/��
	�	������60$����
M.�	�Z[,"
3�/��
�4L��Z
�������K/�
'�@�����,��(
<�8�4$��&��/�

2) M . � 	 � Z [ , " 
 & � , � ( 
 	 � 	 � � � � � � 6 0
���&�� ���$������$���,
 M.�	�Z [,"
 '�@�
+R$����$����*4=0

3) ��$�����K���,��(
�CS�f��=�
��/S���=0
4) ��$�����K���,��(
��
gZ��=8
��/S���=0

<���8
,�'������=8
��/S���=0

18. HCI �
��)	��

���9(��)A�-
((

1) 35.45 2) 53.45

3) 36.46 4) 53.54
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19. Gram molecular mass of CCl4 is :

1) 150.0 2) 154.0

3) 151.0 4) 155.0

20. Identify unbalanced chemical
equation in the following :

1) 223 OKNOKNO +→

2) HCl3POHOH3PCl 3323 +→+

3) 22222 HC)OH(CaOH2CaC +→+

4) OH2CO4O5HC2 22222 +→+

21. The example for chemical
displacement is

1) FeS8SFe8 8 →+

2) 22 HZnClHCl2Zn +→+

3) AgClNaNOAgNONaCl 33 +→+

4) 222 OH2OH2 +→

22. The gas liberated when
concentrated HCl is added to
manganese dioxide and heated

1) Oxygen 2) Nitrogen

3) Hydrogen 4) Chlorine

23. The following set of elements are
arranged in the decreasing order
of their reactivity :

1) Na, K, C, Cu

2) Na, K, Cu, C

3) K, Na, C, Cu

4) K, Na, Cu, C

19. CCl4 �
��)���	
�
�
-)9(��)A�-
((

1) 150.0 2) 154.0

3) 151.0 4) 155.0

20. N� 
�'
��
�
<�
'
>�� �
�
(1
%�M1
E�1

�
,(�

�
9�
�
(�� �
(�
(�M.

1) 223 OKNOKNO +→

2) HCl3POHOH3PCl 3323 +→+

3) 22222 HC)OH(CaOH2CaC +→+

4) OH2CO4O5HC2 22222 +→+

21. �)�)�-
(I

��)U�
	
E�2
�G��1
(�X1)6
�
R�

1) FeS8SFe8 8 →+

2) 22 HZnClHCl2Zn +→+

3) AgClNaNOAgNONaCl 33 +→+

4) 222 OH2OH2 +→

22. �
-)!��
I���� ��S� @
�YZS����� �)�
�-
((�

6�S��%��
�%���
�� @�
(��
�
(�� ����M1)�

Q�
(�
���-
-)�
(�
��IE
1) #���0̂ ,�	� 2) ��$�^,�	�

3) ^=^,�	� 4) 	�80��,"

23. N�
�'
��
��
(�	
(�1 )�
(�
'
�
(��?��-
-)	
2(
@1 )�
1
��$
��

��
(1
>��[�%�H�
F)�1�.

1) Na, K, C, Cu

2) Na, K, Cu, C

3) K, Na, C, Cu

4) K, Na, Cu, C
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24. 	)�.��
� � 
%,(�-
(>�� 5�,�
'
� X�
�
(

�)1 
!�)�
C�
E(�
)�
9��)�)�
�
9�
<

1) ���	���L	�
���������&���

2) %&�>��L	�
���������&���

3) #@d̂ ,"
�K���,��(
<�8�4&���

4) &�����&���

25. Q�\)� 
)!��%�O���� �
(�
(+� 	 �%�>
�
@�
(��
�
(�� 	�%��,2,(���
'
(� ��
�E(

)�
9���
<
1) /��< �/ �8� �� �
 < �=��$ � �
 f�� �

$��������	�
@���������60
��.�8h���i&����.
2) #<�$�
,���/�60
#<�$�
��/�c�L�����

���=CS����
O�6��=�
,�$������&��/�.
3) /��<�/�60
 �4L��Z
 �:��,"�����

�����&�L,���������&��/�.
4) ���� � Z�D"
 �� ��T�� ��
 	 �=��� �, �� (

�����������&��/�.

26. 6)F�]��������,[)̂I��
�
((1
��
'
�I��
�
(�
_��'
(�)1
��
%	�`���
�E(�
)�
9���
<
1) ���@�KL
����������
��������	������,��(

3����8��/�.
2) ��$���
 ����������
 ��������	������,��(

3����8��/�.
3) ���@�KL
�$���������
��������	������,��(

3����8��/�.
4) ��$���
 �$���������
 ��������	������,��(

3����8��/�.

24. In the primitive earth there was no
existence of life because
Atmosphere

1) was reducing type

2) was oxidizing type

3) contain molecular oxygen

4) was cool

25. Beta carotene and Folic acid are

called provitamins because they

1) Facilitate biochemical reactions in

our body

2) Keep the bowel movement smooth

3) Get converted into vitamins

4) Facilitate the proper functioning of

prostrate gland

26. Haldane called sea water a ‘hot

dilute soup’ because it consists of

1) complex organic molecules

2) simpler organic molecules

3) complex inorganic molecules

4) simpler inorganic molecules
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27. 6
%,�
�N�� )�
1
>��	
<�
(�
��
(�
(+� M+4�

>��)9(�
'
��
��-�%��
�X�\)�
(�
+1��V

1) ��$���,�)	�

2) CS�8�K���C�

3) ��-�'�����

4) '�.�	����

28. �-
-)�
<1���?9a�
�
(��6�%�C�
1
�5�9#�
�


1) .�=$���

2) ����/�8�f�$�	�$���

3) 	�$��),�$���

4) X&��$���

29. �
-)�
�
�
��
((��)E(�
'
(�b��)E(�
$���


.

G1)��
(�
<1
��1
� ��
<�
'
�
(�� �>���

�����
F)�1��V

1) ��������
����L	�>

2) ���j?����D"
��K	�>

3) <�8����-�
	��:��F	�>

4) 	�-�L�D�
���'�	�>

27. The union of male gamete and

Female gamete in the flower takes

place in

1) pollen tube

2) embryo sac

3) ovary

4) stigma

28. The digestive juice that does not

contain any enzyme is

1) Salivary juice

2) Pancreatic juice

3) Intestinal juice

4) Bile juice

29. Since man’s Fore limbs are shorter

than hind limbs they are include

under

1) class mammalia

2) order primates

3) family hominidae

4) phylum chordata
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30. The pigment present in the part of

the plant that are not exposed to

sun light is

1) carotene

2) chloroplast

3) chromoplast

4) leucoplast

31. The following statement is true

regarding Bacteria

1) The genetic material is RNA

2) The locomotory organ is

pseudopodia

3) Genetic material is not enclosed

by a nuclear membrane

4) They do not have cell wall

32. If the producer has 10,000 units of

energy, then tertiary consumer gets

1) 1000 units of energy

2) 100 units of energy

3) 10 units of energy

4) 1 unit of energy

30. ��'


(�Q�'
1
��
�
!1
�� )�
�
'
>���)�
-)�
!�)�



��
(���
(�
��
9#



1) 	��$�8�k�,"

2) 	�80�$�8���0�"Z

3) 	�8����8���0�"Z

4) =8�	�8���0�"Z

31. �)!?P���-
-)
�G��
���1 
	
2P����N�
�'
��


6��$
��I8�)�1�.���
<�
'


1) �,�����l�����
������
RNA

2) O�=,����
��c����/�

3) �,�����l�����
 ����� �
 	�8�'���^

��8$�9��/�
#��
&����=0

4) f���	�8�'�/�60
	�8�'��5��
M$����*4=0

32. X�)K1 

 
� � 
� 
 !� �c�1
� 
> �� 10,000

d
2

�
'
�
(P�@6)�
�/
?+��1
D��,��
*���-
(



� 


�


�G�1�%�


(�
�/
?+�-
(�	
��
-)9

1) 1000 m�:	��������Z
'�@�

2) 100 m�:	��������Z
'�@�

3) 10 m�:	��������Z
'�@�

4) 1 m�:	�/�����Z
'�@�
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33. The first forms of life developed in
the oxygen free atmosphere, they
obtained energy by
1) Oxidation of organic compounds
2) Decomposition of organic

compounds
3) Fermentation of organic

compounds
4) Synthesis of organic compounds

34. In a compound microscope if
magnification of eye piece lens is
20 X and objective lens is 50 X. The
object appears

1) 100 times larger than its actual
size

2) 1,000 times larger than its actual
size

3) 10,000 times larger than its actual
size

4) 1,00,000 times larger than its
actual size

35. The correct matching of Bacteria
and their shape

A. Bacillus 1. Comma

B. Cocci 2. Spiral

C. Vibrio 3. Spherical

D. Spirilli 4. Rod

1) A – 3 B – 2 C – 1 D – 4

2) A – 4 B – 3 C – 1 D – 2

3) A – 1 B – 4 C – 3 D – 2

4) A – 2 B – 1 C – 4 D – 3

33. 	)��
�� 
1
>��

��
(���1
�5��
1
��
&
���
'
(
X�\)�1
(D�@?Y8����
((

+��)�)�
�
91
>��
��
<�
'
(� /
?+�-
(�
(�� 	
���-
((�+1
D1
(D
1) ����������
����������
%&�>��LK4�/�
2) ����������
����������
�m�:,�9��/�
3) ����������
����������
<��/������	�9��/�
4) ����������
����������
���'�0���N�9��/�

34. ;�1
(��
��-
((

+� �
%

�Ze1
/
#

1
�����
�

1
�)�
(7
!#�20 X �1
(D��
�
(+

1
��)�
(7
!#
50 X.�@1
����
�
(+,�
��)�
�
1) ���8=��&��@>�&�
100 ��:�Z
/�8-�1/��

	�K���*/��
2) ���8=��& � �@ >�& �
 1,000 ��:� Z

/�8-�1/��

	�K���*/��
3) ���8=��&� �@ >�&�
 10,000 ��:� Z

/�8-�1/��

	�K���*/��
4) ���8=��&��@>�&�
 1,00,000 ��:�Z

/�8-�1/��

	�K���*/��

35. �)!?P���-
-)�
'
(��
(�
(+���
<�
'
�@
)�
�
'

�
��-
-)1
�6�%�1)9:
�
A. C��+=�" 1. �/S�LO��/��	�
�
B. 	�	�? 2. ���$��)
C. ������8� 3. /���-�	�$�
D. +B�.�? 4. /��-�	�$�

1) A – 3 B – 2 C – 1 D – 4

2) A – 4 B – 3 C – 1 D – 2

3) A – 1 B – 4 C – 3 D – 2

4) A – 2 B – 1 C – 4 D – 3
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HISTORY

36. The call ‘Back to the Vedas’
was associated with the social
reformer :

1) Dayananda Saraswati

2) Rajaram Mohan Roy

3) Atmarama Panduranga

4) Jyothiba Phule

37. The chronological order of the

following events :
a. Establishment of All India Muslim

League
b. Jallian Walabagh Massacre
c. Founding of Indian National

Congress
d. Division of Bengal
1) d, c, b, a 2) d, c, a, b

3) c, d, a, b 4) b, d, a, c

38. Examine the following statements

and select the correct option :

A) The dead body preserved by

Egyptians was called ‘Mummy’.

B) Generally all civilizations

originated in river valleys.

1) A is true, B is false

2) Both A and B are true

3) A is false, B is true

4) Both A and B are false

36. f���1
�
$���b�C�
(�g�����6��$
�����
�
6�%�C�
�6
(1)1
��
�
-)8��
(1 )�


�
(�V

1) /������,��/�
��$���V�

2) $�7�$��
��8�<�,�$�����"
3) #&�E$����
���-��$����
4) 7�8���C�
�S�*.�

37. N�
�'
��
�d
2���
'
��
��-
-)1
�
)F)�
(

��
(V

a. #."
M�������
����+0�
6��"
��R��,�

b. ^6����,"
��.�C��"
<�&��	��-�
c. CS�$�&�
$�gZ[�����
	������"
��R��,�
d. F�����/�
�CS�̂ ,�

1) d, c, b, a 2) d, c, a, b

3) c, d, a, b 4) b, d, a, c

38. N�
�'
��
���
�
(��)

!�
$����
��6�%�1
(�

@�-�(G�V

A) IfXZ����,�($��
 ���$�@������/�H
 ��&��
/ � �< �� �� �, � � ( 
 n� � ��� E o 
 !�/ � �
	�$��������/�H$�� 

B) ��� � ��, � ����
 !.� 0
 �� �e�, �
,�����	�&������
,�4
F����=�
���/��'�/�60
<��kZ	�8���� 

1) ��	��
A
���,
B
&����B
2) ��	��
A ���&���
B !$�-�8
���
3) ��	��
A &����B,
B ���
4) ��	��
A ���&���
B !$�-�8
&����B

��6)�
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39. The ancient part of the Vedas is :

1) Atharvana Veda

2) Yajur Veda

3) Sama Veda

4) Rig Veda

40. Western Coast : Malbar Coast : :

Eastern Coast : _______

1) Konkan Coast

2) Kutch Coast

3) Canara Coast

4) Coramandel Coast

41. Capitals of the following dynasties

in their correct order are :

A. Shatavahanas

B. kadambas

C. Gangas

D. Chalukyas

1) Srikakulam, Banavasi, Talakadu,

Badami

2) Badami, Banavasi, Talakadu,

Srikakulam

3) Banavasi, Srikakulam, Badami,

Talakadu

4) Talakadu, Banavasi, Srikakulam,

Badami

39. ���1
�
'
>����
!��
�	
(�)�
�
�)1
1
(D� V

1) �c���LK
���/�

2) ����^����L/�

3) ��������/�

4) `���V�/�

40. 	
AT�
(�

�)�
$�V��
(E�)������
�VV�	
c�
#


�)�
$�V

1) 	�8�	�K
��$�

2) 	�O"
��$�

3) 	�,�$�
��$�

4) 	�8�$�����-�=
��$�

41. 
�'

 
��
� �)8�
�/
�
'
� �)81 )I�-
(
�
��-
-)1
�

��
(�V

A. '�&���<�,�$��

B. 	�/��F$��

C. �����$��

D. O�=�	��$��

1) l��	�	��=�,
 F,���+,
 &�=	�-��,

C�/���

2) C�/���,
 F,���+,
 &�=	�-��,

l��	�	��=�

3) F,���+,
 l��	�	��=�,
 C�/���,

&�=	�-��

4) &�=	�-��,
 F,���+,
 l��	�	��=�,

C�/���
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42. The thought “Knowledge is virtue,
virtue is knowledge” is associated
with :

1) Plato

2) Socrates

3) Aristotle

4) Phedes

43. The immediate cause for the first war

of Indian Independence, 1857 was :

1) Cartridges smeared with fat

2) The rule of law introduced by the
English

3) End of traditional industries

4) Low salaries for Indian soldiers

44. Identify the mismatched item :

A. St. Peter’s Church – Architecture

at Rome

B. Last Supper – Painting

C. Pieta – Sculpture

D. Moses – Painting

1) A 2) B

3) C 4) D

45. Mrichchikatika : Sudraka : :
Mattavilasa Prahasana :

1) Narasimhavarman
2) Mahendravarman
3) Pulakesi - I

4) Keertivarman

42. “[)̂�
�����
(9���
(9����[)̂�
”������
�
a
.��
����� �
���CWM1
�
�
(� V

1) ��0�D�8�

2) ��	��k�"

3) ����Z:."

4) X5�������"

43. 1857�
�� )�
�
��)a�
��
�Z!��
��)��
(
�G��


�91


)�
9
1) 	�8F�p
�����/�
&�8�D������
2) #���0$��
 7����8)+/�
 q	��������

	�,�8,��
3) ������/�9�	�
	�?���	�����
��&��
4) CS�$�������
��?�	����
	�����
���F��

44. �
��-
-)��6�%�C
��-
-)�
1
�[�%�H�-
(�
(�
�
(�
(�M�V

A. $�8����L,�
���&� – ������l=B
X�:$",�
O�O"L

B. ������
CS�8�^,� – e&��	�.�

C. ������: – l=B	�.�

D. ��8����" – e&��	�.�

1) A 2) B

3) C 4) D

45. �
(*&
h

O

� V� /
%1
�

� V� V� �
(�
+,F)�

	
�6
�
�
�V
1) ,�$�+�<������L,"
2) ���<���/�������L,"
3) ��*=	��l
- I
4) @��L�����L,"
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GEOGRAPHY AND ECONOMICS

46. ��(H2���I�-
(������
1
(1
D

%G���'��-
((�



�E�
<� ��
E� �F��-
(� �
(�
�
$��� ��
<

X1)6
�
R��
')���

1) 	�	"L
���&���
#6��"
���$������

2) C����*
���&���
��8�-���
���$������

3) /��@�
���&���
��?,"
���$������

4) #�"
���&���
����0$"
���$������

47. 	
�	
�&
1
F���� ��
!��
� 1�%�
]1)1
� X	
(K
I���
��
��%��
�


1) =/�8���
��$�8���$�

2) 	��+B����,"
������/��

3) 	����B
������/��

4) ���6	�D"
��$�8���$�

48. i��
�
'
� ,�)+�
1
� @1 )�
1
� ��(�F�

��
��%�6
9� 

��
(1
>�� [�%�H�
F)��
(�

�
��-
-)1
��
(�	
(

1) q���,
 #X5 �	 �,
 /�@�K
 ������	�,

#��Z[�6����

2) q���,
 /�@�K
 ������	�,
 #X5 �	 �,

#��Z[�6����

3) q���,
 #��Z[�6����,
 #X5�	�,
 /�@�K

������	�

4) q���,
 #��Z[�6����,
 /�@�K
 ������	�,

#X5�	�

46. The best examples for the broad
leafed trees grown more along the
Mediterranean coasts are

1) Cork and Olive trees

2) Neem and Cashew trees

3) Grapes and Pine trees

4) Ash and Poplar trees

47. The largest salt water lake in the
world is

1) Lake Ladoga

2) Caspian Sea

3) Black Sea

4) Lake Pulicat

48. The correct group of continents in

the descending order of their area

is

1) Asia, Africa, South America,
Australia

2) Asia, South America, Africa,
Australia

3) Asia, Australia, Africa, South
America

4) Asia, Australia, South America,
Africa

� 
%��%�'
��
(�
(+��7
#/)�
+4
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49. The common currency used in the

Nations of European Union is

1) Pounds

2) Euro

3) Rubel

4) Yen

50. In group ‘A’ list of rivers and in

group ‘B’ list of continents related

to those are given. Identify the

group that matches :

   A B

1. Volga a) North America

2. Murray b) Europe

3. Missouri c) Australia

1) 1 – c 2 – a 3 – b

2) 1 – b 2 – a 3 – c

3) 1 – a 2 – b 3 – c

4) 1 – b 2 – c 3 – a

49. �-
((��%�j�-
(��� ;

%G21
� �F)�� �
1
�
!

�)�
P4�
'
>���)�
-)�
!�)��&
F)�
R��-
(>��
(�


�)9!

1) �r�-"�����

2) �����$�8������

3) $�8C�."�����

4) ����,"

50. ‘A’� 	
OP�-
(>�� �
C�
'
%,� ‘B’� 	
OP�-
(>�

�� 
 <� 
' 
 ( � �� 
 (� 
 � i�� 
� 
' 
� 
 ( �

�
%.�
F)�1�.� ��
<�
'
(� �
�6�%�1
(�


X�
+�
1
��
(�	
�
(���
(�
(�M�V

1. ��c�Ek a) X�
+�
����(��



2. �
(��� b) �-
((��%�	�

3. ,(�3Y� c) @��P4�>�-
(

1) 1 – c 2 – a 3 – b

2) 1 – b 2 – a 3 – c

3) 1 – a 2 – b 3 – c

4) 1 – b 2 – c 3 – a
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51. The water frontiers of Antarctica

are

1) Pacific Ocean, Atlantic Ocean,
Arctic Ocean

2) Indian Ocean, Atlantic Ocean,
Pacific Ocean

3) Indian Ocean, Pacific Ocean,
Arctic Ocean

4) Indian Ocean, Arctic Ocean,
Atlantic Ocean

52. The coast of Norway which lies in
the Arctic zone remains free from
ice and snow even in winter due to :

1) North Atlantic warm ocean current

2) Carebean warm current

3) Brazilian warm current

4) Kurasiwa warm current

53. The difference of 42 kms in the
polar diameter and equatorial
diameter of earth stands as a proof
for :

1) Inclination of earth

2) Geiod shape of earth

3) Elliptical orbit of earth

4) Rotation and revolution of earth

51. ��\)
�#O

�i��
1
�8E��(����
'
(

1) �S�+X5	"
 ����$�,
 �D�0�k	"
 ����$�,
#	"Lk	"
����$�

2) W�/�8���<�����$�,
 �D�0�k	"

����$�,
�S�+X5	"
����$�
3) W�/�8���<�����$�,
�S�+X5	"
����$�,

#	"Lk	"
����$�
4) W�/�8���<�����$�,
#	"Lk	"
����$�,

�D�0�k	"
����$�

52. @
�#O
�� �
E�-
(1
>��
(�
� �)��#�-
(


�)�
$�-
((� &
$�)E1
>�� 

%�)� b�
(
�
(�
(+� �
(�8(�
��]�
$�1
� �
((

+�)��
E(

)�
9�)��
(�
���/
�V

1) %&��$�
�D�0�k	"
%��8a�/�	�
�����<�

2) 	�$�������,"
%��8a�/�	�
�����<�
3) C��f6����,"
%��8a�/�	�
�����<�

4) 	��$�+��J�
%��8a�/�	�
�����<�

53. � 
%,(�-
(�1
*,��-
(��)!�
��
(�
(+��
�
(� )8


�
*�
 +1
� �)!�
1
� �
�
(,�
� 42� ?.,(�.
�
 !�)!� 
� 
 <� N� 
�' 
��
� ��/
� 
' 
� 
( �
�
K�
P	
H�
(�
+1�� V

1) CS�8������
�$�

2) CS�8������
��8���	�$�
3) CS�8������
��-�	�$�
��c�

4) CS�8������
/�?,��4,�
���&���
��gL	�

O�=,�
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54. The continent in which equator

passes at the central part :

1) North America

2) South America

3) Asia

4) Africa

55. Identify the correct statement :

1) Surface waves are highly

destructive

2) Secondary waves of earthquakes

can pass through solid, liquid and

gaseous matters

3) Surface waves of earthquakes are

the fastest waves

4) Primary waves of earthquakes are

the slowest waves

56. The physical and intellectual work

done in return for money is called :

1) Consumption

2) Production

3) Labour

4) Profit

54. � 
� 
 (�  )8
 
 � � 
 *� 
 +� 
 < � N� i�� 
1 


�
(1 
!� )�
1
>��6)1
(�6�%��
(�
+1��V

1) %&��$�
������	�

2) /�@�K
������	�

3) q���

4) #X5�	�

55. N�
�'
��
�6��$
��
'
>���
��-
-)1
�6��$
��V

1) CS�8
	����,�/�
����.�Ej?
�.������
�&���&�

<��	�$�	�

2) CS�8
	����,�/�
4V������
�.������
m�,�,

/� ���
 ���&�� �
 ��=����
 ���8=	�

O�6��F=0��*

3) CS�8
	����,�/�
����.�Ej?
�.������
�&���&�

������������
�.������

4) CS�8
 	����,�/�
 ���c���	�
 �.������

�&���&�
�/S�,��������
�.������

56. 6
91
�	
��	 
E
)G���
-)�
(�
�1�Sb

��
(�
(+

�3Cl

�
�E�
�
�
(��b����

���-
(�6
(1
(� V

1) �,��CS�8���

2) %&�B/�,�

3) '�����

4) .�CS�
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57. In Kolar gold mining is stopped
because :

1) We have decided to keep it as a
reserve

2) The gold found here is very high
quality one

3) The machineries used here are
very old and out dated

4) The gold is no longer available

58. The frist ship to circum – navigate
the world was :
1) Verginia
2) Victor
3) Victoria
4) Venicia

59. In 21st century the producers are
able to attract consumers from all
parts of the world mainly due to

1) Banks giving loans

2) Electronic advertisement media
and tele markets

3) Privatization and Nationalization
of Industries

4) Production of sub standard goods

60. Identify the statement which
increases the ‘green house’ effect :
1) Conservation of forests
2) More use of wind power and solar

power
3) Controlling emission of poisonous

gasses
4) Use of underground source of

water

57. 
�%�F)�
1
>�� .�
�1
� �
9:�)�
��-
(�
(�
I>��
F)�1��m
��1
���V
1) # � � & � > = 	 � > � 
 	 � 4 � � � = �

�/S�L�+/�H���
2) M 6 0 
 + � � � � � 
 e , � ( 
 % & � � � � �

���K���:Z/�H�/�
3) M60
F�������/�H
�����&�8����	�$�K�����

<���&��
���&���
	���������/�H�/�
4) M60
e,�(
�45	����
/�8$��������=0

58. 	
�	
�&
1
��
(�
+�8E�-
-)�
�
�S��%��
���%2P
��%1
E��3
�
1) ��fL������
2) �	�Z$"
3) �	�8Z������
4) ���g����

59. 21����/
�
�
-)�
1
>��X�)K1


�
(�,/
a1�F����
A�d
��)���)�6


�
�
(��@

n#�
E(�
)�
9�V
1) C���	"�����
��=
	�8-����*/��
2) �/�� �,� E, �
 7�W�$�& ��
 � ��& � � �

D�6����$��	�D�Z
3) 	�?���	�����
 ;�����	�$�K
 ���&�� �

$�gZ[�	�$�K
4) 	�����
���K���:Z/�
����������
%&�B/�,�

60. ‘6
M�
(��
(��’�	
�R)�
(�
�
(��2(��
-)�
(�

6��$
��-
(�
(���
(�
(�M�V

1) 	��,�
���$�	��N�

2) ����,�'�@�
���&���
�r$�'�@�
F��	�

3) ����=
��8�$���	�����
&�-�

4) ��&�$"^=
F��	�
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61. There is no state citizenship in
India. Indians acquire their
citizenship not on the basis of their
place of residence or the province
(state) that they belong to. This
type of citizenship is termed as

1) Single citizenship

2) Duel citizenship

3) Provincial citizenship

4) Multiple citizenship

62. Among the following who were
considered as the first people to
give ‘politics’ the status of an
independent science
1) Egyptians
2) Babylonians
3) Indians
4) Greeks

63. Identify the merit of Democracy

from the following alternatives

1) Conducting elections is expensive

and time consuming

2) Defections have resulted in

unstable governments

3) Decisions are taken after debate

and discussion

4) Lengthy procedure is followed to

make laws

POLITICAL SCIENCE & SOCIOLOGY
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64. Voter must produce his/her

Electoral Photo Identity card (EPIC)

or any other document specified by

the government at the time of

voting. The main objective of

introducing this type of procedure

is to

1) verify the voting age

2) prevent impersonation

3) make corrections in electoral roll

4) provide an opportunity to vote in

all the places of his convenience

65. Importance of 1955 in India is

1) The First General Election was

held to Parliament

2) Fundamental duties were

incorporated

3) Fundamental rights were granted

to citizens

4) Citizenship Act was enacted by the

Parliament

66. The organ of U.N. in which ‘veto’

power can be exercised ?

1) Security Council

2) Secretariat

3) International Court of Justice

4) Economic and Social Council
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67. India is a sovereign nation. The
meaning of this is

1) There is no discrimination between
the rich and the poor

2) All religions are treated as same
and equal

3) The people elect their
representatives to form the
government

4) We are free to make our laws and
no country can interfere in this

68. A case suitable to be presented in
the Consumer Court is

1) not providing admission in the
school

2) not providing suitable employment
in a factory

3) cheated by a merchant by selling
a defective material

4) cheated by a money lender by
charging higher rate of interest

69. The form of society that is
considered as the oldest is

1) Cattle rearing

2) Hunting and food gathering

3) Farming society

4) Industrial society

70. The event responsible for
introducing the disarmament treaty
was

1) Indo – Pak War

2) Indo – China War

3) Cold War between USA and USSR

4) Iraq – Iran War
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71. The difference of two numbers is
1400. On dividing the larger
number by the smaller number, we
get quotient 3 and remainder 12.
The smaller number is

1) 436

2) 572

3) 634

4) 694

72. The number which cannot be the
square of a natural number is

1) 15876

2) 12321

3) 12242

4) 11664

73. The mean weight of 10 persons
increases by 2.5 kilogram when a
new person replaces one of them
weighing 60 kilogram. The weight
of new person is

1) 85 kg

2) 62.5 kg

3) 48.5 kg

4) 25 kg
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74. A trader purchases 20 kg rice at
� 25 per kg and 30 kg rice at � 30
per kg. He mixes the two varieties
and sells at � 35 per kg. His profit
percentage is

1) 25%

2) 30%

3) 35%

4) 40%

75. The sum of present age of father
and his son is 60 year. 6 year ago
father’s age was five times the age
of his son. After 5 years son’s age
will be

1) 12 year

2) 14 year

3) 16 year

4) 19 year

76. Ravi starts from his home and
drives 38 km to North and then
52 km to South. How far he is now
from his home finally ?

1) 90 km

2) 52 km

3) 38 km

4) 14 km
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77. A number when increased by 15%
becomes equal to 414. The number
is

1) 621

2) 360

3) 267

4) 162

78. The value of
acaccbcbbaba )x()x()x( −+−+−+ ××  to

equal to :
1) xa + b + c

2) x
3) 0
4) 1

79. The area of rectangular field is 180
square meter and its breadth is
12 meter. The perimeter of the field is

1) 27 m

2) 54 m

3) 15 m

4) 18 m

80. Three solid cubes of sides 1cm,
6 cm and 8 cm are melted together
to form a new cube. The edge of
the cube so formed is

1) 15 cm

2) 14 cm

3) 9 cm

4) 7 cm
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81. Two consecutive numbers is such
that two-fifths of the smaller
number exceeds two-ninths of the
larger number by 4. The two
numbers are

1) 15, 17

2) 25, 27

3) 35, 37

4) 45, 47

82. The perimeter of a parallelogram
is 42 cm and the ratio of adjacent
sides is 3:4. The sides of
parallelogram are

1) 3 cm, 4 cm

2) 6 cm, 8 cm

3) 9 cm, 12 cm

4) 12 cm, 16 cm

83. The set of numbers that could
possibly be the lengths of the sides
of a triangle is

1) 2.5, 1.5, 4

2) 2, 10, 15

3) 2, 5, 7

4) 2, 3, 4

84. Three exterior angles of a triangle
are 120°, 140° and x°. The value of
x° is

1) 40°

2) 60°

3) 80°

4) 100°
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85. If ,
x
98

50
x =  then the value of ‘x’

is

1) 235

2) 70

3) 270

4) 80

86. In what time the simple interest on

a certain sum is 0.15 times the

principal at 10% per anum rate of

interest ?

1) 10 year

2) 12 year

3) 15 year

4) 20 year

87. 16–2 when expressed as an

exponential number with base 4 is

equal to

1) 4–4

2) 44

3) 46

4) 4–6
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88. The simplified form of (0.7)2 – (0.3)2

is

1) 0.4

2) 0.04

3) 0.21

4) 0.49

89. In the adjoining figure

°=∠ 135ABD  and .125BCE °=∠
Which among the given options is
true ?

1) AB > AC

2) AB < AC

3) AB = AC

4) AB = BC = CA

90. Hari was given a discount of 12%
on a book. If the actual price of the
book before discount was � 400,
the amount of discount is

1) � 48

2) � 60

3) � 72

4) � 84

____________________
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